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By a slave of two partners and according to everyone

OVERVIEW

The X723 explained that the case of a 771 12 XM 72¥ °X¥n1 is where the slave
belonged to two partners, where everyone agrees that each one of them can free his
share of the slave, so if one of them frees his part, the 72¥ is a 1717 72 °Xm 72V X7,

nooIn asks:
- 21‘,751'\ 990YY 9199 999N (x,8 91 x0p Naa) 9230 799349 9TYHN 299 NN 9NN ON)

And if you will say; but according to X'" in %27 pa5, a partner in an 72y

cannot free his share -
- 99 1M1 172 199927 P )Y K 1INV 1

Just like this 72v who has two masters cannot go free if his tooth or eye are
destroyed, for we require that it should be ‘his slave’ one who is designated

specifically for him, but not that it is designated for others as well -
- SD1Y5 X9 WY NY “N9 20933 119Y AUNY WIN NN TINT XD DUN OND Y7

And the X713 there established this which 922K ruled, ‘a man and his wife who

sold the »%» 021 they did not accomplish anything’, this ruling is according to
the teaching of X" —

mooIn concludes his question6

" The case there is where one sold his slave to another, but they agreed that for the next thirty days the slave would
work exclusively for his previous master (the one who sold him). There is a rule that if the master hits his slave and
the slave dies after a twenty-four hour period, the master is 719, as the 0°P109 in X3-3,XD (Q*WOWN) NN state; 7122 °3)
R17 1293 °3 0> X7 Thy? M IR O OX X .XD .0pP Op1 §7Y AUA N LW INAR DX IR §72Y N§ vOR. In the previous case
where the slave has two masters, there is a dispute who is considered the master to be exempt under the o°» W ar
rule. X"7 maintains that neither is exempt under the 01 W 07 rule, since neither can say that this 72y is his 1902
12 7man (since there is another master).

* This is M5OI assumption as Mo will continue to explain.

? The 770 rules in 1-19,80 (ovown) Nw that if Y73 W or ¥7aw 1V is destroyed, the "1v1> 72y is freed. However if the
72y has two masters he is not freed (according to X") since we require 12 77177 172V, just as we require 17 7177 1902,

* 3191 *021 are the assets, which the wife brings into the marriage; they belong to her, however during their marriage
the husband has the right to eat the fruits of these assets (if it is a field he eats the fruits, if it is an 72v, the 72¥ works
for him, etc.) The status of the 171 °021 vis-a vis the husband and wife is similar to the status of the 72y mentioned in
footnote # 1, where one person (the wife) owns the 713 of the 2197 001 and the other (the husband) owns the m7s.

> The sale is invalid, since one owns only the 913 and the other only the N1, it is not 711 to any of them, So it is
just like by the 72y (in footnote # 1) where there is no rule of 0°»1 W 01> and he is not 1"¥1 w2 XX, since one (the
buyer) has only a 717 13p, and the other (the seller) has only n17°0 11p, it is not 7M1 to either of them according to
X'"9. Therefore by the 2191 031, when either the husband or the wife dies, the remaining spouse may take back the
391 023, which they sold, from the buyers. See ‘Thinking it over’ # 2.
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And the X 13 there cites a X012, which states, ‘a 19917 32 S3m 72y 937 -
- 7D9929N YWNIA PRYY PR [ITYIN 5297 DYIIN WI99] POV %Y YV T1ay 19
And similarly an 72y of two partners do not go out if the tips of their limbs'
were cut off, as it is by a regular 72y, and X217 there explained that this Xn»91 is

according to R'', so just as he cannot go out @712 *WX12 since he is not 12 TN 172V, he
also cannot free him, so how can the X723 here say that a 177 32 XM 72¥ X1 is possible by an
TONMY '3 YW 72y according to everyone, when we see from the &3 in "2 that by an "2 5w 72y
15N neither one can free him (on their own).

N1B0IN answers:
- 5959 NTYY 993 N1Y 13590 DNNT POMYT 99 YN

And one can say that the term 75M® there in the Xn*721 means that one owns the

73 and the other owns the N9 -
- 0auN) WINT NIIT 9NT DY /Y DUNYIY NI Y 1Y DO INRY *1TaY 999 19

It is like the case of one who sold his slave to another with the stipulation that
he should still service him (the seller) for thirty days, which that case is also

similar to a man and his wife regarding their ownership of 29n >023; it is only in these
cases where there is the issue of 1 77vn7 and therefore neither owner is considered his total

owner, and he will not be able to free him either -
= 1980 99HYY 9199 /999 91 1D YIva Yan

However, when each of the partners owns half the 12 and half the n19%, either
one can free his half of the 72y —

Moo responds to an anticipated difficulty:
- 29390K 1awny 13550 7190 13 15801 138 PN 0NN MRPT XD

® At this point there is no question yet, because we can distinguish between the case of "7 where one owns the 71
and the other owns the M0, so we can say that neither can free him (because it is not Y2 711), however in the case
of two partners where the both have N8 17171 7137 1P in this 72y, perhaps X" agrees that each one can be 77nwn his
half (see *"'wA there WY R 7"7). The question however is from what N1o0n cites now. (See footnote # 7.)

7 mooin is assuming now that 25Mw '2 Y@ 72y in this Xn™12 means that they were equal partners (N17°52) 132), not
like the case in footnote # 1, and as the simple meaning of Pamw "2 5w 72V indicates, therefore the question is how
can our X713 say that if two partners own an 72y, he can become a n"am ¥"n, and it is ¥"137 827X, when it certainly
cannot follow the view of X" who requires 12 7m°171 1729, even in a case of two complete partners (see footnote # 6).
See ‘Thinking it over’ # 1.

¥ mooin is retracting from what he assumed in the question; see footnote # 7.

? See footnote # 1.

1% See footnote # 4.

' moown concluded that only when both partners have n1"d 131 7137 1°3p that each one is able to free his half.
Therefore we must conclude that when that Xn*72 mentions a 17"2m ¥"11 (that he does not go out 12X "WX12) we are
discussing a case where the remaining half-owner had a NM17°0 1°171 7137 1P in this 72V just as the previous partner had
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And this which the Xn»92 states there that a n''2 "¥m 72w 31 does not go out

0°72X "WXO2, that it (only) according to the latter 71w that 7" agreed to w'"a that we
force the remaining master to free the slave —

ndOIN asks:
- 90WA MIPN 1Y W 17aY 2P0 NIWY 1nY Py msh 1N 15993 909N KDY TN ON)

And if you will say; but 9228 himself maintained previously according to one
version, that one who frees his slave there is recourse for this slave to gain his
complete freedom if the owner gives him a Mnw ww -

N1B0IN answers:
:NIM N9 PNNDIR NUN N1 9205 13991 9IDINA P90 INT TOWT 91299 YN

And one can say that a "vw can certainly remove the prohibition, as the X713
states previously, just like a woman the ©3 removes only the prohibition aspect,
but not any monetary obligation, the same is with a 1w “vw of an 72v.

SUMMARY

The restriction of X" regarding " 7n1°n:7', is only if one owns A7 I and the
other N7 1°1p, but not if they are PoMY in both. A MINY W, however is effective
to remove MO’XR but not PR,

THINKING IT OVER

(otherwise how could he have been freed); The question is, since the remaining owner has both N17°9 PIpY 917 PIp
why does this 11"2m ¥"11 not go out 2”2X *wX12. In this case it is 12 77117 172Y; so just as he can be 7w half, he
should also be able to go out 2”72X *w&12!

"2 The A nx mwn is that 7"2 agreed to "3 that we force the remaining master to free him; so even before he frees
him, he cannot have the 72y work for him, therefore he only has a 7137 1P in this 72¥ but no M7 3P, so it is not
17 7M°1 172y anymore, and therefore he does not go out 0°72R *wX12.

13 %1, according to the *1mX7 XX only by 737N 12 TX M2 but not if the master is alive. The question is that when one
is pon the 72v he loses his M1°d 1°1p, but retains the 7137 1P and nevertheless A»° 2K maintains that he can be freed,
indicating that 7137 117 is sufficient and we have no problem with 12 7M1 1729, so why does 12°»K rule that TwX) WX
Q173 K21 1wy XY A9n 0212 1190w, since one has NM*d 11 (the husband) and one has 71371 1737 (the wife), and we see by
72y that even if he only has 7137 1°1p he can still free him, so here too the wife who has 71377 11p should be able to sell
her 2191 °031! See ‘Thinking it over’ # 3.

49 b,

'> mooin is answering that we cannot compare the two cases of T2y and 317» *033. Regarding an n"am v"n where the
master only has a 7137 117 in this 72v, which practically means that this 72v is prohibited from marrying a %2> n3,
therefore he can write him a MMY WY to free him completely and remove this M0°X, for we derive 72v from WX,
that just like by a woman the v removed the prohibition on the woman to marry anyone else, but it does not affect
any monetary issues, similarly the 1w 0w is effective only for 210°R but not for 11721, However by 2171 °021 we are
discussing a monetary transaction, so 1°X maintains that since she only has a 71377 "1 but no M7 "3 she cannot
complete the transaction (even together with her husband).
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1. moon asks how can it be ¥"57 X2°9%, when X"9 (seemingly) disagrees.'® Why
cannot we answer that when the X713 states 'v"127 X2°%XY' it means according to both
1127 27 who we were discussing previously, however we did not mean ¥
literally (especially since X177 "nnw X"7 he follows "2 which i1s 21pn2 71wn 71K
1"2); so what is N1dOIN question?!17

2. Mmoo writes that the ruling of K regarding 2% °021 is according to X" (as
part of the question).'® Seemingly why was it necessary at all for Moo to cite the
ruling of °»X, why is the question from the xn*92 (of Pomw) insufficient?!"”

3. moon asks a contradiction from °X.* Seemingly the same question can be
asked directly on our 71wn; how can we say that we force him to be 27nwn the 72y,
but he only has a 7137 117 on the 72w721%!

16 See footnote # 7.

17 See R"wAn.

18 See footnote # 5.

1 See yw i 21 and wn noNa.

20 See footnote # 13.

21 See X"wmn 5 "W and wn N,
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